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Note ; (1) Figure to the right indicate full marks of the question .

Q-1 | Define cost accounting and discuss characteristics and limitations of cost accounting (18
OR
Q-1 | Write notes on: (18
a.) Methods of cost accounting
b.) Elements of cost
Q-2 | What is labour turnover rate? Explain its causes and remedies in defail. 17
OR
Q-2 | Write short notes on : [17
1. Features of a good wage system
2. ABC technique
Q-3 | Balu Ltd. has three manufacturing departments: P, Q ,and R aad two service departments : Sand T. | [18]

The following information has been obtained from the records of the company:

Particulars Rs.
Rent 10,000
General eleetieity (v 1y 2,000
Indirect wages 5,000
Power 12,000
Depreciation on machinery 15,000
Employees State Insurance (employer’s confribution) 3,500
Strdry expenses =0
The following information is available in respect of the departments:
Particular P Q R S T
Area occupied(sg.mt) 600 400 500 300 200
" Direct-wages Rs. 4,500 | 4,000 | 3,000 750 250
Horse powers 25 20 150 - -
Lighting points 15 10 10 10 5
Value of machinery Rs. | 90,000 | 85,000 | 75,000 - -
Indirect materials Rs. 300 250 3000 200 200

Expenses of S and T departments are reapportioned as follows:

P Q R S T
S 30% 40% 20% . 10%
T 40% 20% 30% 10% -

@ | | (HED)




Prepare :

1.) Statement showing distribution of overhead to various departments,

2.) Statement showing apportioning the service departments expenses over produgtign.
departments by repeated distribution method. '

OR
Q-3 | The following expenses have been incurred in respect of a shop having four identical {18
Machines. '
1. Rent and taxes 12,000 p.a.
2. Power consumption by the shop @!0 paise per unit 9600 p.a.
3. Repairs and maintenance of machines 1920 pa.
4. Lighting for the shop 1600 p.a,
5. Two attendants, each getting Rs. 120 p.m.
"6, Supervisor's salary 1200 p.m.
7. Lubricants etc. 200 pa.
8. Depreciation per machine 1200 p.a,
9. Higher purchase instalments for the machines
(including Rs. 300 for interest) 2400 pa.
10.Each machine consumers 10 units of power per hour.
Calculate the machine Hour Rate
Q-4 | From the following information, prepate the cost sheet showing total profit and profit per unit: [17]
Rs. ‘
Purchase of raw materials 1,15,000
Carriage inwards 4,000
Direct wages 96,000
Machine hours worked 10,000 hours
Machine hour rate Rs. 4 per hour
Opening stock of raw materials 25,000
Opening stock of finished goodsé()()()units) Y 40,000
Closing stock of raw material 20,000
Closing stock of finished goods 5,000 units
Opening work in progress 5,000
Closing work in progress . ' 15,000
Office overheads 4% of work cost
Selling & distribution expenses Re I per unit
Sales 3,00,000
Production during the year 26,000 units
N OR
(-4 | Why there is need for Reconciliation? Explain its method in brief. [17
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